11. What is the probability that there are 607 or more users in a sample of 1000 that are 18-29, if the true
proportion is 60% for the population? 607
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12. A similar sample was taken in Georgia. In the SRS of 1000, there were 583 users in the 18-29 age range. Is this
strong evidence that the population proportion in Georgia is less than 60%. A _5_._3;2
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13. Another SRS was taken in North Carolina and this time there were 627 in the sample who were 18-29. Does this
provide strong evidence that the proportion in NC is greater than 60%?
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14. Does the shape of the sampling distribution change if we use a SRS of 1000 from the whole US if the population
proportion still is at 60%?
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15. Does the shape of the sampling distribution change if we use a SRS of 4000 from the whole US if the population
proportion still is at 60%?
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